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[fme™ — e = 0, then what s the value of
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Iflog (0.57)= 1.756 ,then the value of

log 57 +1og (0.57)° + log J0.57 is:

(8) 0902 @) 2146 (c) 1502 . @ Tue :

Ina certain zoo, there are 42 animals in one sector, 34.in the second sectorandZO in the third sector, Out of this , 24 graze in sector one-
and also in sector two. 10 graze in sector two and sector three, 12 graze in sector one and sector three. These figures also mclude four
animals grézing in all the three seotors are now transported to another zoo, find the total number of animals.

(@ B8 )] % : (c) 54 . (d) None of tbe above

'I'heraunoftherootsofbx’+nx+n =Qisp:q,then
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The average age of a couple is 25 years. The average age of the family just after the birth of the first child was 18 years, The average
age of the family just after the second child was bom was 15 years. The average age of the family after the third and the fourth children-

: (who are twins) were bom was 12 years. If the present average age of the family of six persons is 16.years, how old is the eldest child

(a) 6 years b 7 years i (c) 8years ' (d) 9 years

10% of the voters did not cast their vote in an election between two candidates. 10% of the votes polled were found mvahd The
successful candidate got 54% of the valid votes and won hy amajority of 1620 votes. The number of voters enrolled on the voters list
was ; .

()] 25&1) (b) 33000 (c) 35000 © {d) 40000 \

The resistance of awire is proportional to its length and inversely proportional to the square.of its radius. Two wires of the same
matenalhavethesmnereslstanceandtlwumduaremtlmanw 8. Ifthe Lengthoftheﬁmmls 162 cms. ﬁndﬁnelengthofmeother
(a) 64cm, (b) 120cm. ©) 128cm. (d) 132em — - '
A 20 litre vessel i is filled w;th alcohol. Some of the alcolml is poured out into another vessel of an equal capaclty, which is then

P

completely filled by addmg water. The mlxture thus obtamed is then pcured into the first vessel to capacity. Then 6 7 litres is poured

from the first vessel into the second. Both vessels now contain an equal amount of alcohol How much alcohol was ungmally poured
from the first vessel into the second ? ,

(a) 9 litres (b) 10litres (c) 12 lmes (D) 125litres

The shaded portion of figure shows the graph of which of the following ? :




- 10,

11
12,
13.

14.

15,

17.

18.

19,

20,

(a)'.x'(y_-%:t) %0 A (b) };(y-ix)so ' © x[y+-;-x]2.0'. @ x( -é—st"o
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A person closes his account in an investment scheme by withdrawing Rs. 10,000. Oneyearagohehadmthdmmks 6000. Two years
ago he had withdrawn Rs. 5000, 'I‘hreeyeatsagohehadnotwnthdmwnanymoney Howmuchmoneyhadhe deposltedapproxnmately,
.at the time of opening the account 4 years ago, if the annual simplé interestis 10%?

(a) Rs.15600 (b) Rs.16500 () Rs.17280 @ Noneofthese

It takes 6 technicians a total of 10-hours to build a new server from direct computer, with each working at the same rate. lfsnx;
technicians start to build the server at 11 : Dﬂam,andonewchmcmnperhmn'lsaddedbegmmngats :00 pm, at what time will the

server be completed ? ' '

@ 6:40pm ® T0m (@ 7:20pm @ 8:00pm :

A ship 55 kms, ﬁ'omtheshorespnngsale.@twhlchadmmhonesofwatermémm 80toneswou1dmffertosmkher,butthepumps
can throw out 12 tones an hour. Fmdtheavemgarateofsmlmgmatshemyjust reach the shore as she begins to sink.

(8 S5Skmh () 65kmh : (©) 7.5kmh (d) 85kmh

In a 400 meter race around a circular stadium having a circumference of 1000 meters, the fastest runner and the slowest runner rmh
thesamepomtatthecndoftheS‘hmmuhe,fortheﬁrsttlmeaﬁa'themrtoftheraoe All the runners have the same starting point and
eachmnnermmntamsalmlfmmapeedthmughoutﬂumce.lfﬂwfasbestnmnerrunsattmoelhespeedoﬂheslowestrunner,what
is the time taken by the fastest runner to finish the race? S

() 20mins o (b) Smins - (c) 10mins - (d) 5mins

AtmncrossesaptatfonnlOOmemlongmwseoondsataspeedoNShnperhourThetlmetakenbyﬂ:emtocrussanelecmc
pole, is , -
() 8 seconds ® lminute = (© S52seconds ~ (d) Datamadcquate
Ifx=1+2a+3a?+4a®+.....(=1<a<1)and : .
y=143b+6b2+1063+..... (-1 <b<1),
thenﬁnd1+ab+(ab)2+(ab)3+ .. in terms of x and y. S

xuzym. - r S13,2/3 _
@ Jmomg ® syl © xmi i7_; - (d) None of these

Two vertical Iamp—posts of equal helght stand on.elthcrslde of aroad 50m w1de Ata point P on the road between them, the elevation

. of the tops of the lamp-posts are 60° and 30°. Fmdﬁ:edmtanceofl‘ﬁ'omﬂiehmppostwhlchmkesangleofﬁﬂ“

(@ 25m < o (b) 125m. ‘ © 165m~ . (d) 205m
Mlstlwcenﬁeofthecu'cle £(QS)=10 2 .¢(PR)= t(RS)andPRllQS Fmdthearenoftbeshadedregon (usem=3) .

(@) 100sq units . (b) ll#aq unis (c) SOsqumts fd) 200 sq. units
Thmarethreecoplanarpmllelhngfﬁanyppommmtakenoneachofthehnes,ﬂlenﬁndthemaxamumnmnberofmangleswth
the vertices of these points. -

® AUp-) O Py O pép-d @ 7
AandBthmwmthoued:ceforastakcofRs llwhlchlstobewonbytheplayerwhoﬁrstthmwsé IfAhastheﬁrstthrow,whatarc
thelrrespecuveexpectanons

@ Rs7.Rs4 - - (@) Rs6,Rs5 )-Rs4Rs7 () RsS,Rs6



DIRECTIONI(Ql.Il -25): TlluemhsedoutllefollowinguneChrt ThesahuudnetproﬂtofXI'LEleetmﬂuinRs.cmmls

given below.

" Note ; Net profit= GrossProﬁt ~Tax. Gross profit = Sales - Expenses. Theﬁgmesforsalemgwmattheboﬁmnofﬂnbarchmmd
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the figures for net profit is given on top of the line chart.

21, Whatis the net proft percentage of XPL in 19987

@ 46%

b) 48% © 5|%

2. Which year showed the maximum percentage increase in sales?

@ 199

®) 198 @ 19

23. By how much percentage has the net profit dropped in 19967

(@) L%

b 227% ‘ ©) 25%

@ m
@ 1%

(d) Cannot be determined -

24. 1 XPL sold 20,000 units in both 1998 and 1999, by what percentage has the price per unit changed?

® 8™

®) 1096% © 986%

25. The year in which the expenses of XPL Electronic are highest is

@ 199

O I

(d) Caonot be determined

(d) Cannotbedetemmed ‘

DIRECTIONS(QD.KNN] Tlluemhsednltllefollowlngdm.

Sy

Thefollowmgchartglmthepmductmn ofthreenm;orcrops(mmihontons)mﬁvehﬁm states mtheyear 1998.

16. If Tamil Nadureglstersanannual mcreaseof 22 per cent in rice productlon, what was thenoeproductloanamrlNadu in 1998?

. (a)" 1900 million tons

27.- What is the ratio of total wheat production in the five smm to total sugar production?
() 06

\

I lﬂlm']]

T TmilNeh  Mawnebn® Bibar N Gujart

(b) 2300 million tons . {c) - 2180 milliontons -

® 14 © 19

Kensla

(d) 2520 million tons _

@ 075



28, If sugar costs Rs. 700 per ton and wheat costs Rs. 400perton,whatwasthetutalwmthofmgarandwheatproducuonmlndm?

(a) 42million - (b) 21 million © ) 105million d Datn insufficient
29, Ifthe yield per hectare of sugar is 3.86 tons, what is the fatio of area employed to produce sugar in Bihar to Gujarat?
@@ LIS ) b) 145 (¢) 135 "~ (d) Datainsufficient

3, lfthese five states constitute 77 perrentofthe country swheat productlon and 23 per ent ofoountrys wheat consumption is
ported,whatmtheamountofwheetnmpomdm 19987
(8 4700milliontons (b) 3900million tons (c) 3500milliontons . (d) Datainsufficient

.DIRECTIONS (Qs. 31 to 35) : Read the following information and answer the quetions that follow:

. Thecars ata dealershlpcome with a choice-of the fulbwmg options : a:r-condmonmg, a cassette deck, leather seats, power windows,

a sunroof and tinted glass. None of the cars has any other optional-equipment. The following conditions apply :
, If a car has leather seats, it also has a cassette deck. If a car has a cassette deck, it also haspowerwmdows Ifacarhaspower
windows, it also has a cassette deck.

Cars with tinted glass have a sunroof, but o air-gonditioning. Cars that have air-conditioning have, at most, two other options.
'31. Ifa car has both tinted glass and leather seats, whattsthegreatestnumberofaddmonalopuousﬂmtthecarcouldhave?

@1 ® 2 ‘ © 3 @4 &
32. Which one of the followmg could be a complete and accurate list of options on a car?’

(a) ‘air-conditioning, cassette deck, leatheér seats, power windaws

- (b) -air-conditioning , cassette deck, leather seats, sunroof
(c) cassette deck, leather seats, sunroof, tinted glass ) _
- {d) cassette deck, power windows, suntoof, tinted glass '
3. lfacarhaspowermndo_wsand a sunroof, how many different sets of options, atmost,cauﬂwcar have?
(a) 2 - b3 : © 4 : @ 5

34. [fa car has exactly two options, which one of the following could they be?

(a) air-conditioning and cassette deck

{b) tinted glass and sunroof N . _

() cassette deck and leather seats \ " '

" (d) ‘power windows and sunroof - - '

35.- Ifacar has tinted glass,whwhoneofﬂ\s foﬂuwmgCANNOTben-ue'?

(a) Thecarhas3 opnons ‘

(b) The car has 4 options.-~

© Themhaspowawmdowsmdamooﬁ _

(d) The car does not have both ]eaﬂlersm”ndacassenedeck.

nmmmsiw) mamwmmmmmmmmmmma)mmmmm

36, IfbothABDCandCDPEuepmllelogmms whahsq+r’ Bea T :
(1) r=70 ‘ o S @ p=110

: | | | E ) . . . . F - '
(a) 'Statement (1) ALONE is sufﬁclent, but statement (2) alone is not sufficient.
(b) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.
~ (c) BOTH statements TOGETHER are sufficient, but NEITHER satement a.lone is sufficient.
.. (d EACH statemeniALONE is sufficient, '



13
37 Aoumnmdmmnmtlyﬁnllw of:umxmummngwty%uﬂnmxmmmtmgmwofdwmdnm?
(1) IflJSOpeopkwmmmth:Mlm!hemeouldbefullto—ofiumaximummﬁngupncity.

(vi)] leMpewkmmhnwﬂan.meMumwouldbeﬁmw ofmmaxunummgupmty

+ (a) Statement (1) ALONE is sufficient, but statement (2) alone is not suﬂicnem.
(b) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient,
(¢) BOTH statements TOGETHER are sufficient, but NEITHER satement alone is sufficient.
(d) EACH statement ALONE is sufficient.
38. If nis an integer, is n even?
(1) 2nisan even integer.
(2) n-1isanodd integer.
(a) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient,
(b) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.
(¢) BOTH statements TOGETHER are sufficient, but NEITHER satement alone is sufficient.
(d) EACH statement ALONE is sufficient.
39. What is the value of x?
(1) ¥-5x+4=0
(2) x isnot prime.
(a) Statement (1) ALONE is sufficient, but statement (2) alone 15 not sufficient.
(b) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.
(c) BOTH statements TOGETHER are sufficient, but NEITHER satement alone is sufficient.
(d) Statements (1)and (2) TOGETHER are NOT sufficient.
40. A fish tank contains a number of fish, including 5 Fanails, lflwo fish are selected from the tank at random, what umeptobcbxmylhu
both will be Fantails?

(1) The probability that the first fish chosen will be a Fantail is 5 .

4
(2) The probability that the second fish chosen will be a Fantail is e

(2) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient, P
(b) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient. .
(c) BOTH statements TOGETHER are sufficient, but NEITHER satement alone is sufficient.

(d) EACH statement ALONE is sufficient.

DIRECTIONS (Qs. 41 to 50) : Read the following passages-1, Il and ITI and give answer based on it.

PASSAGEA
History has shaped academic medical centers (AMCs) to perform 3 functions : patient care, research, and teaching. These 3 mnmons
are now fraught with problems becuase the attempt to combine them has led to such inefficiencies as duplication of activities and”
personnel, inpatient procedures that could and should have been out-patient procedures, and unwieldy administrative bureaucracies.

’ One source of inefficiency derives from mixed lines of authority, Clinical chjefs and practitioners in AMCs are typically responsible
to the hospital for practice issues but to the medical school for promotion, marketing, membership in a faculty practice plan, and educational
accreditation. Community physicians with privileges at a university hospital add more complications. They have no official affiliation with
the AMC's medical school connected, but their cooperation with faculty members is essential for proper patient treatment. The fragmented

-accountability is heightened by the fact that 3 different groups often vie for the loyalty of physicians who receive research, The medical
school may wish ta capitalize on the research for its educational value to students; the hospital may desire the state-of-the-art treatment
methods resulting from the research; and the grant administrators may, focus on the researchers’ humanitarian motives. Communication
among these groups is rarely coordinated, and the physicians may serve whichever group promises the best perks and ignore the rest -
which inevitably strains relationships.




Another source of inefficiency is the fact that physicians have obligations to many different groups: patients, students, faculty
members, referring physicians, third-party payers, and staff members, all of whom have varied expectations. Satisfying the interests of one
group may alienate others. Patient care provides a common example. For the benefit of medical students, physiciaris may order too many
tests, prolong patient visits, or encourage experimental studies of a patient. If AMC faculty physicians were more aware of how much
treatments of specific illnesses cost, and of how other institutions treat patierit conditions, they would be better practitioners, and the
educational and clinical care missions of AMCs would both be better served.

A bias toward specialization adds yet more inefficiency. AMCs are viewed as mstltlmgns senrmg the gravest cases in need of the
most advanced treatments. The high number of specialty residents and the presence of burn units, blood banks, and transplant centers
validate this belief. Aiso present at AMCs, though less conspicuous, are facilities for ordinary primary care patients. In fact, many patients
choose to visit an AMC for primary care because they realize that any necessary follow-up cam occur almost instantaneously. While AMCs
have emphasized cutting-edge specialty medicine, their more routine medical services need development and enhancement.

" A final contribution to inefficiency is organizational complacency. Until recently, most academic medical centers drew the public
merely by e:usnng The rising presence, however, of tertiary hospiunls with patient care as their only goal has immersed AMCs in a very
competitive market. It is only in the past several years that AMCs have started to recognize and develop strategies to address oompetmon,
4. The author’s attitude toward the meﬁiclcnces at academic medical centers is one of

(a) refuctant acquiescence - ' < (b) ‘strident opposition

() agonized indecision T (d) reasoned criticism
42, The author of the passage would most hkely agree with which of the followmg statements about primary care at AMCs?

' (8). AMCs would make more money if they focused mainly on primary care.
- (b) Bumn and transplant patients need specialty care more than primary care.

(c) AMCs offer the best primary care for most patients.

- (d) Inefficiencies at AMCs would be reduced if better primary care were offered.
43.  The author’s pnmarypurpose in this passage is to .

(a) discuss the rise and fall of academic medical centers -

(b) explain that multiple lines of authonty in a medieal centre create meﬁ'lcnencles

(c) delineate conflicts occurring in academic medical facilities ,

(d) examine the differences between academic and other health care enhhes .

44.  The author implies which of the following about faculty physicians at AMCs?

(8} Most of them lack good business sense.

(b) They put patients’ physical health above their huspltals' monetmy concerns.

. (c) They sometimes focus on education at the expense of patient care.

(d) They lack official affiliation with the medu:al schools connected to AMCs.

- PASSAGEAT

Founded at the dawn of the modern industrial era, the nearly forgotien Women's Trade Union League (WTUL) played an mstmmental
Line role in advancing the cause of working women throughout the early part of the twentteth century. In the face nf considerable adversny,
theWTULmadeaoonmbutwn&JgreaterthmdldmosthJstoncalm '

The organization's successes did not come easily; conflict heqet the WTUL in many forms :

During those early days of American unions, organized labour was aggressively opposed by both industry and government. The
WTUL, which represented a largely unskilled labour force, had little levérage against these powerful opponents. Also, because of the skill
level of its workers as well as inherent societal gender bias, the WTUL had great difficulty finding allies among other unions. Even the large
and powerful American Federation of Labour (AFL), which nomijnally took the WTUL under its wing, kept it at a distance. Because the

- AFL'S power stemmed from its highly skilled labour force, the organization saw little economic benefitin working with the WTUL. The
affiliation pmwded the AFL w1th political cover, allowing it to claim support for women workers; in return, the WTUL gained a potent but
largely absent ally.

The WTUL also had to-overcome mternal (hscord. While the majority of the group's members were working women, a sizeable and
powerful minority consisted of middle- and upperclass social reformers whose goals extended beyond labour reform. While workers argued
that “the WTUL should focus its efforts on collective bargaining and working conditions, the reformers looked beyond the workplace,
seeking state and national legislation aimed at education reform and urban poverty relief as well as workplace issues.

Despite these obstacles, the WTUL accomplished a great deal. The organization was instrumental in the passage of state laws
mandating an eight-hour workday, a minimum wage for women, and a ban on child labour, It provided seed money to women who organized
workers in specific plants and industries, and also established strike funds and soup kitchens to support striking unionists. After the tragic
Triangle Shirtwaist Company fire of 1911, the WTUL launched a four-year investigation whose conclusions formed the basis of much
subsequent workplace safety legislation. The organization also offered a political base for all reform-minded women, and thus helped
develop the next generation of American leaders. Eleanor Rooscvelt was one of many prominent figures to emerge from the WTUL.



ﬂueomm‘mionbeg:nwowdwhinthchuImmmmutbepmbndwkedoﬁiuwin;m«miaﬁmlimped
lhmudlﬂnl%thedmhknellevmdlxmin1950.nﬁeonmdﬂnMoCuﬁaymAmof—the—cenmnyhbowmiaﬁon
dadicuedlolocidrefam.mdmm:ingitshyd:ywnsmﬂdbymyu'ndiul.‘mdliﬂkchmofwatberhgmnm.nh
hlmbleeuding.bowever.ddanodﬁngtodiminishdnwoomplishmaofanomniuﬁmthﬂisyemmeiveitshistociuldue.
45. The primary purpose of this passage is to )

(a) daaibethewﬁaswnﬁonﬁngwmnintheeonwmmywofkplm

(b) call readers' attention to an overlooked contributor to American history

() critique the methods employed by an important labour union

(d) mb\hhiwoﬁmf«&ilingwmd\ewmn‘shbormmmly
4. Whiehofﬁnefollowmgbeuchnwaimdsel\mrimFedmﬂonofuboursviewofunWomm'sTndeUnionLeugue.uitis
‘ presented in the passage? : .

(a) TbeWTUqulnimpommeompomoﬂheAFhmultiﬁommultoniMMrymdilsMnemofwo'tkm:

(b) Bmofﬂmkmdfsamliuionwithmcminﬁm.ﬂnWTULwtsavdiiclethmud:whichﬂwAFLcouldpin

access to the White House.

(c) T)QWTUmebeavoidedbmuselhendiulelunuuWithinimuwedunwmedgovcmnmtmmy.

(d) TbeWTULoﬂ'aedtt:AFmeolhialapiulhnliuleﬁmwouldmistilinhbomnegoﬁaﬁm
47, Exhofﬂwfolbwimhcihdindnmnmmnplhhﬁwmofdem’:TndeUnionLeangXCEFT

(a) ltomniudahighlyskilledworkforeetoinameiubuminiugpowa.

(b) It contributed to the development of a group of leaders in America.

(c) It provided essential support to striking women.

(d) It helped fund start-up unions for women. ;
PASSAGE-I ’

Theﬁmﬁonofmgicpluningkwpmiﬁwammyfalm-mmmwinavafietyofmukmbyanllyzing
its strengths and weaknesses and examining wmudpmﬁdmhiﬁe&wmmkinfomﬁomﬂnmp‘nychops
MhiMﬂMmmmdﬂMfamﬁmmﬁafmmw&m.

Thisiswberedlloomnxmdcph:ugomy-uinlplmmdon.Rmuhmincsmmgmummyubowllhtmoucms
whotnwuhtegicplmmmwdwfthdnpo&nﬁdbmkdownhﬂnimpleumnﬁm of the plan. Unlike 1980s corporations that
blindly followed their 5-year plans, even when they were misguided, today's corporations tend to second-guess.

Omidmanbelpfaciliwﬂnepm,bminthcﬁmlmdysis.ifdnoompunydoan‘tmakethcplm.ﬂnoompmywm‘lfollowdw
plm.nhwumofﬂnwobleuuwilhml!egicplmningint!\eI9803.lnthnm.itwumlbsmmp-do\vnpminvolvingmlya
few top corporate officers and hired guns, Number crunching experts came into a company and generated tome-like volumes filled with a
mixmafabm»cfwamdmndtheodeswhichludlialctodowiﬂnbeday-lo-dayreditiesoﬂlweomplny.Keymiddlemnmm
kﬁomofplnmingsadom,mmlﬁnghlwoppmmidaudmmedfeelim_ M

However, more hands-on strategic planning can produce startling results. A recent survey queried more than a thousand small-to-
medimnsbedbusinmtdoompmemp’uniuwimnmtcgicplmtocompmiuwitboummmyfuMMwmpaniawith
m;icphmhadmmnlmmm°f62pmmaoppoiedb3.8pamfa&aodmcmia. .

Pahnpsmostimpamgawwgicplnhelpseomiumicipnmnrvimmuhnologymdthcmobilityofapm
thnmuienunshiﬁfnﬂaﬂmmbefm.Somﬁmmhlmlmmwhymeysbomdboth«glmingmmm
whenmukctdymnﬁumigmbem:fomedbqumecfact.isMil‘sd:evuypmofchmgcﬂmnuketpllmingsocmcinl.
Now.nmdmcver,mpuﬁuhlvclostayalentod\emtk«phee.-lnmmvimmmofoonﬁnuallndmpiddnnge.longnnge
planning expands options and organizational flexibility. ;
48. The primary-purpose of the passage is to . |

(a) refute the idea that change is bad for a corporation's long-term health

(b) describe how long-term planning, despite some potential pitfalls, can help a corporation to grow

() compare and contrast two styles of corporate planning ,

(d) evaluate the strategic planning goals of corporate America today
L) hcanbcinfawdﬁomlhepamgcthn,ingewd.mﬁcplumingduinadnI9803had|llofmefollowhgdmmingsﬁxcm

(a) a reliance on outside consultants who did not necessarily understand the nuts and bolts of the business

() udepmdeneeonllwomiulmodebdutdidnoulmysperfectlydmribcdnwmkingsofthecompmy

(c) an inherent weakness in the company's own ability to implement the strategic plan .

(d) umoﬁnl‘omnﬁonmdchmhnmdeildiﬁiculuogeuokeyconcepts



50.

Theamlmrmmthkelymenﬂons tlwmultsofﬂnesurvey of 1,000-companies in orderto -

(a) putfotthanopposmngwonsh'ateglcplanssothatshemthmreﬁmlt )
(®) tllustmtethatwhen strategic planning is "hands-on," 1tprod|munmm|mgresults
© mve a concrete example of why strategic planning did not work during the 1980s

() support her contention that strategic planning when done correctly can be very successful -

5L

Over the last 20 years the rate of increase in total production: me-khndhasbemseoondtonoue inthe world. Howeyer, thegmwth
is more modest when calculated per capita of total population. Over the last ten years progress has been much slower

If the information above is accurate, which of the followmg must be true? .

(2) Workland has a very large population.
(b) Productivity per capita has not grown as fast during the past ten years,

- (c) Total pmducnon has increased faster than popuhtlon growlh

(d) The birth rate has declined.

Between 1979 and 1983, the number of unmoorporated business self-employed women increased five times fasterthan the number of

self employed men and more than three times faster than women wage-and- salary workers. Part-tlme self-emplayment among women

increased more than full-time self-employment.

Each of the follcmng, if true, could help to account for this trend exoept _

() Owning a business affords flexibility to combine work and family responsibilities.

() The pmpomou of women studymg business administration courses has grown considerable.

(c) - There are more seif-employed women than men.

(d) Uninorporated service industries have grown by 300 percent over the penod, the ratio of women to men in this industry is three
to one.

* There is no'clear line between health and illness; it is easy to forgetwhat it feels like tobe reelly welland to get gradually used to often

having a headache, feeling irritable, or tired. There is an unmcognmd proportion of the population that has been tipped over the
brink into ill health by ublqultous contaminants. ‘ . ' ’ T ' ,
Which of the following statements best dcsm‘bes the putpose of the hbvoe?
(@ The public must be emomngadto have regular medical examinations.

" (b) Thepubhcmustbewunedtobeawareofvmousphymmlmdchcmwalhazard& '

(c) The public must be wamned to treat seriousty such symptoms as headaches, irritability, and tlredness

- (d)- The medical professional is not always capable of dlagnosmg illness. - -

DlRECTlONS(Qs.ﬂ -55): Inucllqueldon,thereareﬁvesentenmEaehmteuehuapﬂrotwordldntmiulicm and
Wmeﬂuitdidndnndhighﬂghtedwords,selectthemogtappmprhtewordl(AorB)tofomenrrectseﬂemThe

: unteneummwedlryopﬂus&ntmatemewwds,wmmaybeseleetedtoemeeﬂywmpktetheutnfmmmtlle
- uptionsgiven,ehmﬂnemtapproprhteone.

The furm [A) further [B] b pushed himself, the mte disillusioned he grew.

' Fuﬂ:emwdsnwasmofahimwm] lhlmric[B] event; forthelrleadef it was just another day.

Thie old man has a heathy distrust [A}/ mistrust [B] for all new technology. This film is based on a real [A]/ true [B] story.

. One suspects that the compliment [A] / complement [B] was backhanded.

(2) BABAB © (b) ABABA ) BAABA () BBAAB
Regrettably [A]/ Regretfully [B] I have to decline your invitation. ' o
Tam drawn to the poetic; sensual [A] / sensuous [B] quality of her paintings.

He was besides [A]/ beside [B] himself with age when I told him what I had done.

 After brushing against a stationary [A] / stationery | [B] truck my car turned turtle.
* As the water begnn to rise over [A) / above [B] the danger mark, the signs of an imminent flood were clear

(@) BAABA (b) BBBAB () AAABA (d) BBAAB



DIRECTIONS (Qs.56-57): Ineach quuﬁon,ﬂleword atmetophmedinfnurdiﬂerentmys, nambered (a)to(d). Choose the
option iri which the usage of the wo:dilfmrrectorlnapprapﬂm

5.

3.

(a) Let's sort these boys into four groups " (b) They serve tea of a sort on these trains,
“(c) Farmers of all sort attended the rally. " (d) Whatsort of cheese do you use in pizza?
HOST » '

(a) A virus has infected the host oomputer .
() Rmchlwﬂlplaytlnhosttothencxtnatmnalﬁlmfestwal
(c) Kerala's forests are host to a range of snakes

(d) 1f you host the party, who will foot the bill

Select the one which would best fill the blanks.

 Football evokes a | ?esponseinlﬁdiaéémparedtucricke;, the almost the nation

6)] 'tepid,boiling ©(b) lukewarm,electrifies  (c) unhid,fasciniting (d) apocryphal genuinely fascinates

DIRECTIONS (Qs. 59-60) : Each question consists of four sentences on a topic. Some sentences are grammatically incorrect or
inappropriate. Selecttheoption thatindlutesthegrammtlullymmctmd appropriate sentence(s).

9 A

A, Last Sunday, Archana had nothing to do.

B Aﬂerwakingup,_shqlayonthebed!hinkingofwhatmdo.

C Atllo'clockshetookshowerandgotmdy ) .l

D. She spent most of the day shopping. o C _
® BamdC ®C @ AadB @ BCadD

A, Large reductions in thie ozone layer, which sits about 15-30 km above the Earth, take place each winter over the polar regions,

especially theAntarcuc, as low temperatuws allow the formation of stratospheric clouds that assist chemical reactions breaking
downozong,

B. Industrial chemicals oontammg chiorine and bmmme have-been blamed for thmnmg the layer because they attack the ozone
molecules, mnkmg them to break apart. :

C. Manyan oﬁ'endmg chemicals have now been banned,
D:. It will still take several decades before these submnm have dlsappeared from the aunosphere
@® D - () B&D : (©)' A&D T M
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